Year 6 Mad4Maths Weekly Example

Round 59,867.828

= 5 2 _ 1 .
To the nearest 1000 = > = =
To the nearest 10 =
To the nearest hundredth =
71615
917 18| 6|5 X 4
675.99 x 10 = .
— 0.6
20,100 x 100 = 8 .
54+10= 2and 1/5x8 =
2,000,000 = 100 = 458x6=__
819 1|7
4507 | 6 | 5|5 X 31| 4

1% of 923 =
7% of 923 =
10% of 9900 =
60% of 9900 =

14.4 kg divided by 1200g =

How many quarter litres are in
2.5 litrese
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- 5 2 _ 1 .
To the nearest 1000 = > = =
To the nearest 10 =
To the nearest hundredth =
71615
917 18| 6|5 X 4
675.99 x 10 = .
- 0.6
20,100 x 100 = ) .
54+ 10= 2and 1/5x8 =
2,000,000 = 100 = 458x6=__
819 1|7
4507 | 6 | 5|5 X 314

1% of 923 =
7% of 923 =
10% of 9900 =
60% of 9900 =

14.4 kg divided by 1200g =

How many quarter litres are in
2.5 litrese




Year 6 Mad4Maths Weekly Example

Round 99,453.999

_ 61_2 _
To the nearest 1000 = T 20
To the nearest 10 =
To the nearest hundredth =
11715
8le6| 71|77 X 9
909 x 10 = 4
e 0.99
405,010 x 100 = 5 :
672 +10= 4and i/sx 12 =
40,000 = 100 = B2x9=
6|57
511718615 X 9 |3

1% of 184 =
7% of 184 =
10% of 7830 =
60% of 7830 =

5.4 kg divided by 300g =

How many 750ml are in
6.75 litrese




Year 6 Mad4Maths Weekly Example

Round 89,765.783
_ 9 3 _ 4 _
To the nearest 1000 = 3 T =
To the nearest 10 =
To the nearest tenth =
91715
7161583 X 6
1,000,000 x 10 = 36
0.444 x 100 = 20 0.95
7000 = 10 = 7 and 2/3x8 =
90850 + 100 = §36x8=
21319
3208|7619 X 8|3
1% of 453 = 8.1kg divided by ? people
7% of 453 = -—-
10% of 1870 = How many 600ml are in
i 2
60% of 1870 = 4.2 litrese
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